3016
B.Tech. (CSE) 2ad Semester (G-Scheme)
Examimation, May-2623

1.
(d) Fita straight line v=2 + bx to the following data
xfol1]13]16i1¢8}
vy§13 31215 | <
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Explain 3. (a
(i) Null hypothesis ®)
(i1) Alternative hypothesis

(iii) Level of significance

A random sample of 27 pair of observations from
anormal population gives a correlation coefficient

of 0.6. Is this significant of correlation in

R
population? 15 §
Unit-I
A purse contains two silver coins and fo opper 4 . (@
coins. A second purse contains fo er and
three copper coins. Ifacoinis p ut at random

from one of the two purses t is the probability
that it is a silver coin’@

Four coins are tossed. What is the expectation of

number of heads? 15
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State and prove Chebyshev's inequality.

A car-hire firm has two cars, which it hires out day
by day. The number of demands for a car on each
day is distributed-as a Poisson distribution with
mean 1.5. Calculate the proportion of days on
which neithér car is used and the proportion of days

onwhich some demand is refused (e'*=0.2231).
15
Unit-II

Is the function given below a density function?

0 for x<2
3+2x)for2<x<4

f(x)= 18( ) %

0 for x> 4

AlsofindP (2 < x £ 3).
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